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(D (x+2)(x+3)= x*+5x+6 ;

2)(x-4)(x+1) = x°-3x-4 -
B)(y+4)(y-2) = V'+2-8
@) (y-5)(y-3) = V-8yt15 .

(5)(2x+3)(2x-5)= 4x°-4x-15 .
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(x+1) (x-1) (2x+1) (2x-1)
=x2—x+x—1 =4x2-2x+2x—1
=x%-1 =4x2-1

(m+2) (m-2)
=m?—2m+2m—4

:m2—4
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K R 3P 2 R, 5 T
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wHiE: —InfER], Z—INE AHERH,
H B HE I A —In.



HERR: - (a +b)(a —b)
=a’ —ab+ab—b’

0! g
=a —b

“(a+b)a-b)=d’ —b




1 ERAFERFEARITHE:
(1) (3x+2) (3x-2) (2) (-x+2y) (-x-2y)
#: (1) JER= (3x)" - 2°

=9x’ —4

2) BR=(-x)’ -(2y)°

:x2_4y2



G2 +HE:
(1) (y+2) (y—2)-(y-1) (y+5) (2) 102X 98

fi#: (1) ER=y" -2’ —(yz +4y—5)
=y —4—y"—4y+5

=—4y+1
(2) FE=(100+2)x(100-2)
=100° —2°

=10000-4 =9996
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THiE: —IMERE, Z—IMEAERE,
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#13. THIRFATHFFZEZARGTHED? At4a? IWRER,
A5 =39 =

(1) (atb)(-a=b) ; (A RE
(2) (a=b)(b-a) ; (A RE
(3) (a+2b)(2b+a); (A Ae

(4) —(a-b)(athb) ; (&) =(a2 =B)= -a> + &;

(5) (2x+y)(y-2x). (N E8) /"*.J ﬁ
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